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1 100kN/mM##BZ % = -~ = -|3m%EiEZ S = = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00{ 000 ~ 598 74.96] £nLlst | 0.00 598| 1.74 8.80 ZThLLSE 1.00| 500 ~ 6.80 7496 1Ll | 500 ~ 6.80| 1.74 8.80
9 100kN/mM#%#BZ % 1.00/0.00 ~ 150 122.78|3mZ#BZRBH| - = - -| 100kN/MZE#B 2% 1.00| 10.80 ~ 16.53 122.78|3m%#B% % al ~ - - -
Zh st 1.00[ 150 ~ 9.28 100.00] Z+#List | 0.00 9.28| 2.26 11.41 Zh LS 1.00|] 500 ~ 10.80 100.00| Zh it | 500 ~ 16.53] 2.26 11.41
3 100kN/mM##8Z % 1.00/ 000 ~ 0.18 102.61|3mZBZ5| - = = -| 100kN/iZi#8 % % 1.00/ 11.41 ~ 1200 102.61|3m%i#BZ% = ~ = = =
Zh st 1.00[ 018 ~ 7.96 100.00|] Z4LLi4t | 0.00 7.96| 2.01 10.14 Zh LS 1.00|] 500 ~ 1141 100.00| Zhlist | 500 ~ 12.00] 2.01 10.14
4 100kN/mM#%# 8% % 1.00{0.00 ~ 091 113.68|3mZi#BRD| - = = -| 100kN/iZi#8 % % 1.00| 10.88 ~ 14.00 113.68|3m%i#BZ% = ~ = = =
Zh st 1.00{ 091 ~ 870 100.00|] Z4Li4t | 0.00 8.70| 2.07 10.44 Zh LS 1.00] 500 ~ 10.88 100.00| Zh it | 500 ~ 14.00| 207 10.44
5 100kN/mM#%# 8% % 1.00/ 0.00 ~ 0.02 100.35|3mZE#BRB| - = = -| 100kN/iZi#8 % % 1.00| 10.95 ~ 11,02 100.35|3m%#BZ % = ~ = = =
Zh st 1.00{002 ~ 781 100.00] Z+#List | 0.00 7.81| 2.06 10.39 Zh LS 1.00|] 500 ~ 10.95 100.00f Zh it | 500 ~ 11.02] 2.06 10.39
6 100kN/mM#%#BZ % 1.00/0.00 ~ 0.79 111.84|3mZ#BRD| - = = -| 100kN/iZi#8 % % 1.00| 1259 ~ 16.60 111.84|3m%#BZ% = ~ = = =
Zh st 1.00{079 ~ 858 100.00] Z+#List | 0.00 858| 2.10 10.62 Zh LS 1.00] 500 ~ 1259 100.00| Zh it | 500 ~ 16.60] 2.10 10.62
7 100kN/mM#%# 8% % 1.00{0.00 ~ 155 123.71|3mZ#BRD| - = = -| 100kN/iZi#8 % % 1.00| 11.77 ~ 20.20 123.71|3m%#BZ% = ~ = = =
Lot 1.00] 1.55 ~ 9.34 100.00f ZHh List | 0.00 9.34] 2.45 12.39 Zh st 1.00f 500 ~ 11.77 100.00f Z1List | 500 ~ 20.20f 2.45 12.39
8 100kN/mM%#EZ % 1.00{0.00 ~ 1.56 123.87|3m%EHE %% = = = -| 100kN/MZE#BZ % 1.00| 12.08 ~ 21.60 123.87|3m%E#B %% = ~ = = =
ZnLst 1.00] 1.56 ~ 9.35 100.00f ZHh List | 0.00 9.35] 2.43 12.27 Zhn st 1.00f 500 ~ 12.08 100.00f Z1List | 500 ~ 2160 243 12.27
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